41501-05_A TEIEFMHRFERE  FRHTZEXRERS

7= miiEA

MR

BEXRENBREMAEHEEHTZERXRE, ERFEEHTLLREIR
KEREFEH, FAXKZERN , BIMNRETHL2E8ABE , HEIHN
EEENEMNMFEM L,
BERERPOERI , TUBHREXENSFTLEIME,
BHITE  M12=+1.0 mm, M16 = £1.5 mmo.

M
BERAMKE T4 R R ARN,

g
BERNMKETHLRBNLNBEE/LLE,

BR:

WEF KB QfEERZSH 41500 BEER K EATFSERERLS,
MEEEFLATEE 4R,

EXREE ENBENET AL TSN L EER , UEBKENTH

FERE,
=N
BEXESHMEEFTHNERE , TBARTRSHITESRRE
E.
H&BE
BERXE,
ElE B2,
Eichi- 1S
@ =L
=L * B=50/72
s B
L mD i
2z G B1 P
&gr &
41501-05-0500112 | A | 64 70 |50 25 |30/12,5 3,5 M5 |M6 - M12x30 | M12x25 30 85
41501-05-0720116 | A | 86 93 |72 39,7|44/213 35 M6 |M6 - M16x50 | M16X40 50 150
41501-05-1000116 | A | 101,5 | 111,5 [100 42,6 |64|21,6 5 M8 |M8| M14X1,5X50 - M16X40 50 150

© norelem www.norelem.com



